o
[N

<0 > (rad)
o
o [
[ [¢)]

[y

< dcotl>)
o
=
a1

...........................

...........................

iy

107 1

= BB e Al specBrese)
—— DOM™mKEIt"TTNEW; e;au t:sEecPLessS
—— DOM”mKFIt_TT_NEWdefault_specPLess4
=1 =1
g OCE : : g OGE : :
= 80 T S G B B SRR R, = 80F---- | (o B & EEEEE EEEERERERES
A F [: rY o A F L :
& 60f------e A 0 1 I SRR o 60F---- | L B | RS SRR
o 40:_ ........ 1.3 P 2 1 . ° 4 ET P I 1
v 40 : : : v 40 : :
20+ g 20+ R R 1 R R
OF oo foi N S S OF o - Ftf e
—20F-------- S ERIITERIe —-20F--- 2 PR
ST OSSR 111 1 1 D1 18 SO —40f++- i
—-60f--------- epef e —-60f---- i epef e
-80F-------- R L SR -80F -1 1f--1H |1 S L ESRRR SRR
.9—1(&05 PR 1 Y Y P OO OO .9—1(&05 A cobead Db v 0
T r : : : T r : :
o [ : o [ .
1_— ----- P U — ------------ 1_— ----- pey P U ------------
10 0> . 10° BT 10 0> . 10°
TPp, (PCA t]b beamllné‘? TPp, (PCA t]b beamllné‘f)

<0 / > (Y
PP, > (Y0)
O = N W N O

1

<+
B R e T
. -
JHE e
- N
E-3 T (A A Y R
+[°V
I O Y

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

1071 1




	Contents
	Page 1


